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19.Here are 2 sets of weights.

Circle the heavier set of weights.
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20.Write a digit in each box to make this subtraction correct.

70 )-()=¢5
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21.Janice brings 15 packets of plain crisps and 17 packets of flavoured crisps for a party. If
there are 27 children in the class and each child has one pack each, how many packs will
be left over?
Show your workings.
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30.Janice buys a magazine for 38p. She pays with a 50p piece.

Calculate the change Janice will receive.
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6. Janice has 9 small dolls. There are 15 in a full set.
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How many more dolls does she need to complete her set of 15 dolls?
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7. Here are 41 balls: 24 rugby balls and 17 footballs.
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Complete the addition and subtraction calculations below.

(J+[)=#
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12.Write the missing numbers in this sequence.

67

57

47

27
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13.Draw an arrow to show 75 on the number line.

60

80
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14.Cakes are sold in packs of ten.

10 Cakes

10 Cakes

10 Cakes

10 Cakes

10 Cakes

How many cakes are in the picture above?





